I) Fill in the missing numbers.

| 2 L 5
x 10 | T+ 10
10 30 LO 60
5x10 =50 6 x 10 = 60 /7 x10=___ 8xI10=___ A% 10 = ___
SO SO SO SO SO
50+ 10=___ 60 +10=__ 70+10-=___ _ +10=__ =
O +10=__ 20+10=__ 30 +10 = LO + 10 =
20+ 10 = 0 +10=___ 00 + 10 = QPO <+ 10 =
2) Fill in the missing numbers.
6 | 3 L 6 6
X -
l 6 12 2L 30 T
5x6 =30 6x6 =36 /x6=___ 8xb=___ AQx6 =
SO SO SO SO SO
30+6-=___ 6+6=__ L2 +6=__ _ +6=__ T =__
6+6-=__ 12 +6=__ I8 +6=___ A +6=__
/2 +6-=__ 66 +6=__ 60+6-=__ by + 6 =
3) Fill in the missing numbers.
L x/ =28 Adx5 =45 2x12=___ 3x8=___ 12 x 4 =
SO SO SO SO SO
28 +/7 = Lb+5-_ 4 +12 = . +8=__ T =__
8 +8=__ e =7 =__ 27 +94=___ o
B +8-=__ 77 +7 = __ AV+9-__ a9+ Il =
L) Match the multiplication equation to the 5) Solve the Following calculations.
related division equation.
30+10=-_ L2+7-_ 5Bk+9-__
3x10 =30 LO+ 10 = L
21 + 3 = 22 + 2 = 25 +5 =
20=2x10 60 +10 =6 o o o
6% 10 = 60 50<10-5 6b+9-_ LA4+7-_ 36+L-__
50 =5x10 80+10-=28 50+65-_  7/5+5-_ 30=+2-__
80 = 8x10 2=20<+10 ) . .
L 0 -L0 0-0.3 L2 +3-_  52+L-_ 1O-+8-=__




